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1. The solid has 1 face on the bottom, 1 face on the top, and
6 faces on the sides. The faces intersect at 18 different
line segments. The edges intersect at 12 different points.

So, the solid has 8 faces, 18 edges, and 12 vertices.

2. The solid has 1 face on the bottom and 7 faces on the

sides. The faces intersect at 14 different line segments.
The edges intersect at 8 different points.

So, the solid has 8 faces, 14 edges, and 8 vertices.
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3. Use a net to find the area of each face.
Top:4 e1 =4
Bottom: 4 « 1 = 4
Front: 4 « 2 = 8§
9

Back: 4 ¢« 2 =8
Side: 1 e 2 =2
Side: 1o 2 =2
4 ft e
1t WETE "? A ft
sicle back side front 2ft
bottom

Surface = Area + Area + Area + Area + Area + Area

Area of of of of ofa ofa
top bottom  front back side side
S =4 + 4 + 8 + 8 + 2 + 2
= 28

So, the surlace area 15 28 square feel.
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4. Tsc a net to find the arca of cach face.
Bottom: 12 ¢« 7 = 84

Front: %- 12 « 5 = 30

Back: ]E ]2 5 =30

Side: 13 ¢ 7 = 9]
Side: 5 ¢ 7 =35

13 ft 5
13 ft back — 5
12 ft
side baottom side |7 ft
front L

Surface = Area + Area + Area + Area + Area

Area of of of ofa ofa
bottom  front back side  side
S = 8 + 30 4+ 30 + 91 + 35

= 270

So, the surface area 1s 270 square feet.
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5. Use a net to find the area of each face.

Bottom: 11 =1

Side:loI-Q:I
2

Sidc:l-lizzl
2
i 1
Side: —ele2 =1
2
Side: L o102 =1 sidie
2 1in. 2in.
zide 1in. —I
bottom side
side

Surface = Area + Area + Area + Area + Area

Atea of of a of a ofa ofa
bottomn  side side side  side
S =1 + 1 + 1 + 1 + 1
= 5

S0, the surface area 18 5 square inches.
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6. UUsc a net to find the area of each face.

Bottom: % e ]]e093 =752725

Side: % e]lle]5=2825
. | -
Side: 5 o]lel>=2823
Side: —e]1]1 @15 = &825
11 m

15m
95m

Surface = Area  + Area + Area + Area
Area of of a of a of a
bottom  side side side

S = 5225 + 825 + 825 + 825
299.75

So, the surlace area 1s 299.75 square melers.
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7. V = ftwh
_E[E 7
204 A 3
s
24 8

So, the volume 1s 4§ cubic centimeters.

8. V = fwh

250

E, or ICIl
2

So, the volume 1s 10% cubic centimeters.
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10. The least amount of wrapping paper needed to wrap the
boxed DVD collection is equal to the surlace area ol the

boxed DVD collection.
[Jse a net to find the area of each face.
Top:6 « 8 = 48 Bottom: 6 « 8 = 438

Fron; 615 =29 Back: 615 =9
Side: 15 =12 Side: 815 =12

6 in.
top gin.
& in. & in. 6 in.
side back sicle front 1.5in.
bottom

Surface = Arca + Arca  + Arca + Arca + Arca + Area

Area of ol ol of ofa ofa

top bottom front back side side

5 = 48 + 48 + 9 4+ 9 4+ 12 + 12
= 138

So, the least amount of wrapping paper needed Lo wrap
the boxed DV collection 1s 138 square inches.
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11. Use a net to find the area of cach tace to be painted.

Front: % o |l e =42

Rack: % o |l e =42

Side: 15.2 « 195 = 2964
Side: 6 195 =117

15.2 ft
b ft
15.2 ft back 6 ft
19.5 ft side bottom sicle
14 ft
front L
Surface = Arca + Arca + Arca + Arca
Area To ol ol ol a ol a

Be Painted  front back  side side

S = 42 4+ 42 4+ 2964+ 117
= 4974

So, the surface area of the part of the ramp to be painted
15 497.4 square feet. Because you are going to paint the
ramp with two coats, vou will need enough paint to cover
2 « 4974 = 994 8 square fect. Because one quart of
paint covers 80 square feet and 994.8 + 80 = 12.435
quarts, vou should buy 13 quarts of paint to cover the
ramp.
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12. Volume of original cube: V' = fwh
= 4(4)(4)
= 64
Double the edge lengths: 4 ¢ 2 = 8
Volume of new cube: V' = fwh
= 8(8)(8)
= 512

So, the volume of the new cube 1s 512 = 64 = §, or §
times greater than the original cube.
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